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Peet T: A=B.
Lt A and B 13550‘55-75364{ s to
T acp o R <A
Loheh s to s

xe A=> XEB ol x€B => xX€A
wohich s to :bcu(

So a.y\A=Bfrwc is 6. kil of PR preof.
Tcm’t)(&'l'o:

') [t xXE A- [ Do 5+U‘P'p 'l‘o.ze:l "'O:]Tlvc,l‘c'(,bfa)
x€8. Sa A <B.

2) Nest, let x€R. L Do stof¥ to gt 4o |
Thecelere, xehA. S B<A.

E Xawr(: .

TL\ eorew ,

For O-W»{ Sc'e$ XJ Y) &M& ZJ
Xal(Yoz) = (XaYIu(XnZ).




Proof.

Lt XY, cnd Z be scts.

1) Assome X E Xn(YUZ)e Thew, by defiution
ot wikersecton, x€X ondl x€ YoZ. So t/>¢{
tﬂ:(’mr}\om o'(’ vnion, X€ Y or X € Z.

bUc, consider {;wo C L= °

(&) Xéx c..hﬁ xé‘/. TLc_u, Lc{ &J}h.‘(‘nou O-F
ll/\'t&“SCCJlII.OIA, x€ Xn Y¢ Qu'f thes, él,{
&c“’,lw.'('\bu of LVUB L, X & ()(/\ ys U[Xn ZS.

(b) xe ¥ ondl x€E. Thew, 6«1 defiton ot
tmtchcc{:Iou) XeXn Z. Buf'”«-’-u-) 6:7 Mcu.('lom
@-F TA-8 xé(X,\Ysu (Xn2).

Tin edler case, XE (XnY)u(Xa B). So
XalYu2) e (XnY)u(Xn?2).

2\) A5$UM¢ X E (Xn YBU(Xn ‘Z\. Tlu:u., éa]
definchon of omon, X€ XnY or X€XAZ.-
e consiler two coses.

(&S XGIX/\ \/. Then XﬁXa.uﬂ X'éy 67;
def'n af Lm‘,e_rse/cfwM» Bt xeY =Y
x€ Yoé, lur defn of vmon. So xeX
o-uﬂlxé VUZ) so X € Xn (YUZS) 64(
def'n of  intersedon. _

(65 X € Xnt. Bc{ the soue oraqumart os
(c.J, bt woth Yaoud Z _Swn,'}cj.c&) e See
(since Zny = Yn‘z )‘H\a'll XEXnlYnZ)s



Tu edther oS Use hove xE Xn(}’uzs
Se (XaY)u(XaZ)e XalYaZ).

Therefore, (Xa¥)u(XaZ)= Xa(Yo2). @

Dc.-ﬁb lT.: Dlsemo‘(’ y coum‘éarcm?(es.
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l) L 'ch Po”owz 'lnz_.?
props;"‘lbw. ﬁ

For ol sets A,Q,CHJ C,
A-(Bnc) = (A-BYA(A-C).

Solution?
This is folse. Cﬂbmtarcmwr =

A=1Z, 8=1+32; (C=2+3L.

Then Bnal =8. (Se< ?‘-I of S-Pob or Fact
l.gJ P. 30 o( T- BOP, on fthe 2roision i.liam']'hm. )

Se A"CBnCS = A= /.



Bt
A-B = 3L u dt3
A-C = 37y —i+3§) ;;-MQ

(A-B)n (A-C) = D7 £ A=(Bac)



